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Exam I, MTH 221, Spring 2011
Ayman Badawi
QUESTION L. (39 POINTS) For cach question below, circle the right answer.

[o1 4]
| Then A !
i

{1y Let A =

e BN

|
|-
|2

4. Does not exist

I 7
b. | I

4 -7

( 7 4 j )

[~ 2 -1 ;;

@(a) and (b) and (c) are wrong - S

42 3 W
4 -4 4 a

= (it Let A = . Then det{ A)

g8 -4 -5 c
126 -9 3542
a. It depends on the values of . b, . d ,
b. itis always -90
@€) itis always 16 ; /
d. itis always -90(-3b+2)

I 0 0
(i) Let A= |1 1 0| .Thend !=
2 -4
1 0 0
a i i 0
05 025 1
10 0
® 1o
24
[ |2
¢ | I 0
200

d. None of the above

(ivy Let A B3 be 3 < 3 matrices such that 240 = 5 and det(A) == 2. Then det( 3 1) =
(3) 16
i",'; . N
b 0.5
¢ 4

d. None of the above.
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{(v) Let AL B as in the previous question. One of the following is a possibility for A4
10 0
C;% 110
2 06 05
b1 2 opk
2 !
I 0 0
e 11 ook
2 4 2
I 2 0
d 10 -1 0 %
002
*:f% (vi) Let A B as inquestion (IV). Then det{284 - 314}
b} -8
¢. -26 e
d. Can NOT BE DECIDED (i.e. More information is needed)
3 ?2, 2 i 2a . . . .
(viiy Let A = ,{(“ “ m‘z, and (" == | “ w a;}‘ Given that 715 a 3 x 3 matrix such that A = O,
KERERNTY é?,a,; Jus + g 2(14,),
Then B =
220
a |0 2 1
0 01
21
b. 10 2 |
00 |1 g
2 0 0
o 2 o
A
o 1 2

d. None of the above

(viity Let -1 be a 3 % 3 matrix such that A4 2R Ry By B By - Ry A 2Ry B o=

I I
11 1] Then det(A) =

B

a. -1

b 4
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@ (ixy Consider Question (VI Let £ be a matrix such that FB = A, Then I =

20 0
d o0 1 0
43 1
20 0
b 10O 1 0
,,,,, 403 1) ‘
P f?% In f&f”z £ j
- Iy AN N L {,
200 0 (Vo ns
e 1o 1 0
4 23 ~
L - r ’:L? @ @ ™
r - if Z ) < /
05 1 0 ? L Y }/‘1?55,%%} Eg
d 1o 10 i YD
132 o= i /}
Pl

(x) in Question (V. One of the following statements is correct:

1 0 01105 0 O
a 10 b oo 1 oA =18

@ 0 1 0}10 0l Ay =8

I
00 1o 3 1 =
d. NONE OF THE ABOVE

TN e
: ) = 0.505. Then 4 =
i

5
(x1) Given Aisa 2 x 2 matrix such that (A [ |

(1 1]
.

@2 7

e
bt
ESN

[—

"05  -05]
c. L

-0.5
d. NONE OF THE ABOVE

i1y (5] 5{,7;}
(ki bet 4 Jay ns oapl and £

[ ay g 207 ¥ oilg
(AN has infinitely many solutions and »; = 2, vy Uiy oo Tis asolution o the system,
. has unique solution 7y = ry = Land sy . 0
4 b
¢, has infinttely solutions and ry = ry o Lo o Qs g solution,
d. NONE OF THE ABOVIL

2ay 4 oay

Zag +oag | Given det( A} = 00 Then the system of linear equations
5 i )

= J
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(xiy Let C = | |

-1 3. The system of linear equations CX = }’

is INCONSISTENT if

!__,.
[N O I V)

QUESTION 2. (11 POINTS) Solve the following system:

Ao Iy b g = 0
by g o= 2

Ly b ry by s = 4
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